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uksV& lHkh iz'u gy dhft,A
Attempt all questions.

bdkbZ&I (Unit-II)
1. fuEu vko`fŸk forj.k ls gjkRed ek/; Kkr dhft;sμ 17/20

Calculate the harmonic mean for the following frequency distribution—
oxZ vko`fŸk

Class Frequency
5–15 15

15–25 30
25–35 25
35–45 10
45–55 15

bdkbZ&II (Unit-II)
2. Hkkjr esa fdlh jkT; dh tula[;k 331 yk[k gSA lk{kj iq:"kksaa dh la[;k 66 yk[k rFkk iq:"k

vijkf/k;kssaa dh dqy la[;k 33 gtkj gSA ;fn lk{kj iq:"k vijkf/k;kssaa dh la[;k 6 gtkj gks rks
lk{kjrk rFkk vijk/k izo`fŸk ds e/; xq.k lEcU/k xq.kkad Kkr dhft;sA  17/20
The male population of a State in India is 331 lakhs. The number of literate male
is 66 lakhs and the total number of male criminals is 33 thousands. If the number
of literate male criminals is 6 thousand then calculate the Coefficient of Association
between literacy and criminality.
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bdkbZ&III(Unit-III)
3. X rFkk Y ds e/; dkyZ fi;lZu dk lg&lEcU/k xq.kkad Kkr dhft;s vkSj vius mŸkj dk fuoZpu

dhft;sμ 17/20
Calculate Karl Pearson’s coefficient of correlation between X and Y and interpret
your result—

X  : 2 6 8 10 14 16 20
Y   : 1 3 4 5 7 8 10

bdkbZ&IV (Unit-V)
4. tula[;k o`fº lEcU/kh e`R;q ,oa iztuu ds eki ,oa mlds egRo ij ,d fucU/k fyf[k;sA   17/20

Write an essay on significance and measurement of mortality and fertility in
relation to population growth.

bdkbZ&V (Unit-V)
5. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k;sμ 17/20

(v) thou rkfydkA
(c) dky Js.kh ds ?kVdA
(l) lwpdkad dk vFkZ ,oa lhek,°A

Write notes on any two of the following—
(a) Life Table.
(a) Components of Time series.
(b) Meaning and limitations of index number.
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